Séance 1 olympiades 12 /4/2022

Exercice 1

Slih\' e, e ¢ c!e,s Mo v kos:\rfgs Ue,‘,"g.'c..lf oabc=1

“w*‘l ﬁb.&_ __.\—- -+ ‘ + \ >/ }Z
Solution : o (bc) b (c+e) C*(a+b)
I 4Tc» z= qE L'!'-u’f?._!,-l,_' deweak:
{ ! q- 24 )
e —— e — >/ =
g.yl n+2 1(., 2

LIRS IS ( Pav 33...-‘&1)

a; —
o 2oz ( facts) b,
gz T omrt wty
i
Graple
d'o pas 2ol de Tchebeychev  (@um) (na-kov) (Rusre)
~ -~ ~
Y D oAl S .5 4.
gy (2 0 2 Gy L 2als
J (
"{>/ -1? (K+‘1+1+’€) =) .a?—a;l-e 2 —I(VL.I-Y."LJ I<L-Z(J-[j“-- j-/ (é;'—b/-/-%o
Lo L S
'F>, neqel 4 5 mevqrz
z / 2
3
'lu-“l;l >/ %xyz = “_'ii%i Z __32 17 PR j? —i



